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i :asthan is :
The oldest (First) National Park in staitl;:inns
(A) Ranthambore (B) Mu}u'l(: are
(C) Kcoladco (D) Sariske -
Wﬁmw(um)ﬂmwgw .
(A) TER (B) THET
(C) Famea ¢ (D) |

1l aharao
Which State sent military help to Kota Mah

during the freedom struggle of 18577

(A) Jhalawar (B) Jaipur
(C) Bundi (D) Karauli 2
1857 % w=ET GT % GG Bl TETE Bl e
¥ fru e T 3 AP werar Wl 7
(A) AT (B) W@ 7
©) - (D) &N ¢
3 A D A E -
(A) TRY - qHaTET~ (B) TAGHE — WAarst
(C) &0 - FEEE (D) F - Ad
4 The pair of districts having Red and Yellow Soils, is-
(A) Pali - Jodhpur (B) Kota - Bundi
(C) Ajmer - Sirohi (D) Alwar - Bharatpur
Te faen g 7T o g Qe 9a7 9 A @ -
(A) T - U (B) AR 7
(C) ¥R - fA0d~ (D) TR — AW
5 The fort that has trenches all around it is called
fort.
(A) Paridhi (B) Dhanvan
(C) Eran (D) Parikh
% g Rreds ol @ o & 7
Heardr Bl
(A) Wiy (B) ¥
(C) e (D) ot~
® At which place in Rajasthan Tree Festival is
celebrated on 12! September every year?
(A) Khejadli (B) Bilara
(C) Mandore (D) Phalodi
T # fovw e o sty o 12 R 2 ‘g ver
TG e & 7
© wen (D) weird)
@ ‘¢awwwE T E -
(A) v e  (B) e fr
(©) werdr o S (D) e g
8 \r::rlr?:g:?f the following ceremony is related to
(A) Panghat pooj y
© Adopion (B) i
P 3 8 o e e P @ 3 7
(4) ‘e o ®) frms
©) Mz A (D) wrgen
1P3 $

10

14

’ yiri! refers to W
Suvarnagiri (B) Gagron

an?

(A) Jalore (D) Jaisalme

C) Abu i
Fg;@mvwmﬁmgﬁﬁmm%,
(A) TR (B) TN

(C) @l (D) ST

Which of the following palace is also Know,
Chhitar Palace? . :
(A) Rambagh Palace, Jaipur

(B) Decg Palace, Bharatpur

(C) Ummaid Bhawan Palace, Jodhpur

(D) Gajner Palace, Bikaner

P & A B A1 RIS BT AT & T F o g

Who became the ruler of Marwar on 51 June, |3,
after the death of Rao Ganga?

(A) Jaswant Singh (B) Maldeo

(C) Viramdev (D) Sataidev

T MM B gg & qE, S A 1531 §. § Anam @
9ITES B 1 7

(A) SEdaris (B) wIoRE
(C) Amza (D) HraeRa
@ Fr wImR Lt ad-ad amer TER W @l
(A) B FHewte (B) =wufa faera
(C) Tie=ma mew (D) ST TR
13

What is common in Jhadol (Udaipur), Kurada

(Nagaure), Sabania (Bikaner) and Nandlalpura
(Jaipur)?

(A) Centre of stone age

(B) Centre of neolithic culture

(©) Stpre of copper implements

(D) Discovery of minor stone implements

TN (STA), T (), raern (@0,
TREYN (YY) ¥ 1wy & 7

(A) 9T g 7 g

(B) TEur N wepfy F A

(C) qm BTN & :‘gt? =7

(D) WY NI IUHTH A ey

Which oilseed cro

il P increases the nitrogen level in the
soil like pulses? PIEDE

(A) Til
© Growndna  (5) (A
foe ) wue ey :
o5 w7 STl & o g & Agge @
A fm -
. ) IRvEY
© Tred (D) e v
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tancy at birth in 2013-17 in
male 1if€ expec
}5 - than wa
Rajas 0.9 yea (B) 68.5 years
(A) 26‘8 iearS (D) 66.3 years .
%ﬁ'ﬁ 2013-17 A o 9 gou ﬁiaﬁ QAT ol =
70.9 9 (B) 68.5 a9
g 66.8 T (D) 66.3 @
Vhicl of the following 1S not a non-conventional
16 \ Ich 0
source Of €N IH ‘, (B) Hydropower

(€) \\rmdﬁc%er%q o o @ AT T o
37
:[i%‘ il (B) Srafagasied
o s O rwre 7
@) drawia T F G T A
(C) aRWL (D) % &

On which part of the body is Chuni and Bari worn

18
in Rajasthan?
(A) Nose (B) Head
(C) Ear (D) Feet
o & T S AT el & fo o O we
AT & !
A) 7@/ B) fax ¥
(C) @M (D) U@ ¢

Y3’ Which one of the following is not related to
Kalibangan civilization?
(A) Fortification
(B) Fire altars
(C) Mud brick's houses
£D) Tools of iron

-

1 @ 2 A1 0% g v § g e d 7

21

24

25

»

(A) ZHiaTor
(B) #fragve |
(C) Tz =1 231 % a"z'l
(D) 7% % sya.—
20 Maharaja M ino
v térom an Singh I got the art of Meenakari. in |
(A ~
© Gim ) Beran
T 3 2 ) Balochistan
5 & HETUST wFf
; ﬁi' mg"q"iﬁ' i e waw @
Eg) oing (B) |
) 9
S D) =qfam |
IP3 ] 5
3

Which one of the following district has the lowest
S.T. sex ratio according to 2011 census?

(A) Hanumangarh (B) Bikaner

(C) Karauli (D) Jaisalmer

freifthd ¥ 4 @ @ Rast § 2011 &l S0 &6 SFER
ug. 8. &1 gAan femgard frerdr & 7
(A) TS (B) drehrT
(C) & (D) SrEEHT

ey weroliert ¥ A 9T ol fsior =Y ® 7

A) HaTere T (B) THuraitE Tegiied
(C) worre siatear (D) EEHEHERD]

The 'Arjun' tree is mainly found 1n district.
(A) Jhalawar (B) Jaipur

(C) Jalore (D) Jaisalmer

‘e BT g wIE B9 H P o Toeran 1
(A) HAEE (B) wdYY

(C) WA/ (D) SEAHT

Which district receives the vertical sun rays in the

month of June?
(B) Banswara

Where is the Kaila Devi Temple situated?
(A) Alwar (B) Karauli

(C) Dhaulpur (D) Kota

el 3 T HIGT Bl RUd € 7

(A) SFeaX (B) &t~

(C) €@y (D) i<

Madaar Dam was built on

(A) Som (B) Mahi
(C) Sabarmati (D) Berach
e 919 el YT 99T 4T AT
(A) & (B) W&

(C) waT (D) =

Which organisation established Putri Pathshala and
Kabir Pathshala for the education of girls and
untouchables in Bikaner region?

(A) Bikaner Rajya Praja Parishad

(B) Maheshwari Yuva Mandal

(C) Sarvahitkarini Sabha

(D) Bikaner Prajamandal

BT & ¥ wsferal ol ovgal @t e &g T ween
A G graeTEn ot HER qreTET Wit Hi ?

(A) SHMT TG Joll qiwg

(B) wreeerdt gan Avsw

(C) wafeqamirol g

(D) €T gemsd

river.
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28  Alibakshi Khayal is the prevalent folk drama of which | 34 o fﬁ'{’l‘ﬁ (B) _
egion of RIS gy Bharatpur ©) g (D) S
(C) Kota (D) Chittc g |35 @R £ dyq
mﬁww%ﬂﬁ?ﬂmﬁwmﬂm (A) g ~ (B) BT ¢
| ﬁjﬁ Z;m - - r“j) (C) T @ (D) w31y
: EC)) Eﬁlzl(e: (D) fadigy Ly |36 (\il;era{ isislt’unchi or Pomzlégexﬁellgery worn?
< D) N
| 29 Panna Dhai saved the life of : (C) Neck | (D) Nose
(A) Rana Udai Singh (B) Rana Raj Singlr—l gl (Tflﬁ) q1 qig SATYUT HET YET STy B
(C) Rana Sanga (D) Raval Ratan Sifight (A) HAR (B) U Y
(A) m: IEARIE «-"%5 Gﬁ?;)aﬁnm k i Wk ) w)’
© e (o) e [k of e lowig i 3 v
™ ra ' !
Delhi-V (A) Masurdi (B) Jakham
@ thio::ghadc}dam Giieizz-fii;l_d Expres‘sway does nqt-pass (©) I‘(antali (D) Sabi
(A) Jaipur (B) Kota R L ﬁﬁﬁ@ﬂiﬁﬁf'{ﬁwﬁﬁ 3TA{eh mﬁ[ﬁ
(C) Alwar (D) Dausa ™ Tel & 7
J ﬁﬁ“a;'a“ U Trased Reer & el (A) wE (B) W@y~
/f ?:)eréw e (N (C) wiqe (D) ¥
(B) .
Cal SR (D) e |38 T ERT 0 ergandt S i st g i
™ AT HY ?

Rajasthan? / '
' C) 9% gurem ST
(A) Red-yellow (B) Red-loamy l @L ) (D) N/

(C) Red-sandy (D) Brown-s = Head of the Garasi o
. -sandy arasiya tribe is known as -
TSI | 9133 9 Sqfafy & — (A) Gameti
AR ! B ¢
topha R i B ) Sahlot
© w0 T A) Mg S FEI § -
(D) *—tiveir — = (C) et & (B) wmq Y?
32 The tree from which Kattha' is ext 3 21@ : & T
Eg — (B) S:al;.arr‘r:mtEd e, - Qccgdmg '0 the Prashasnik Prativedan 2021-2
Khej : ¢ Departm . ia
% 94 ﬁ?lj";;flﬁ T’ ﬁa;m(D) ey 2 wildlife sanciggr?:sp.ﬁresh Rajasthan, the numbe
(A) ST &, & — o Ry In the state are -
(€) @y (B) e Ay %szﬁ[l & Sy gamraf wiae 2020
| (D) @r~ (N (A) 27 T TSy e 8 -
' B
% E”g;‘;l:;l;r of Jaipur built the Sheet Mata'Temple | 41 D ED; ;zaz
: C Shri Mad
(A) Maharg; . adhukar Gupta.
(B) Mahar:jj!z ?sdl?; Singh ER (A) State lnfnnna{)i;nli: Working on the post of
(C) Maharaja Mad}?n Sirgh (B) State Election Gwr{l‘SS‘OHEF,_Ra_]asthﬂﬂ
(D) Sawai Jaj Sin hD Singh - (C) Chief Secretary %mmlssnoner, Kajastinn
Wa’:ﬁ‘ﬁﬁ 3m§ ¥ ™ (D) Chairman of !St ovel‘n_ment of RajﬂSﬂ?ﬂﬂ'ﬂ
(A) mmw aﬁquh%m? 5 Rajasthan ate Finance Commiss!
v : %
(B) werren dyqrfin BT T oy
(D) ¥ wrafe " (B) 1o Rrafesy oo (IR
[P ’ ©) Ter wfg m@%m, T
31§ (D) . o Rt sy 3. ;;:r(
4 « T p




which Article of the Indian Constitution states that

the Governor of a State shall be appointed by the
President by warrant?

@

What is the full form of ECCE according to
NEP 20207

(A) Educational Care for Childhood Evaluation
(B) Early Care for Childhood Education

(C) Early Childhood Care and Education

(D) Educational Classes for Childhood Evaluation

NEP 2020 % &g8R ECCE &1 qui &Y &y & ?
(A) T & qedi & fWe e davme
(B) arearawdl @ fre & g aifve S
(C) Wi\ STeareaee TEHTe ST firem

(D) SeaERdT & el & fod e wemd

Under Indira Gandhi Shahri Rojgar Guarantee
Scheme, age limit criteria for the beneficiary is -
(A) 18 to 60 years (B) 18 to 62 years
(C) 18 to 50 years (D) 16 to 55 years

e e Qe ST T AT & agd arHit &t

g W Tl TS ® -
(A) 1860 af—~ (B) 18F 62af/
(C) 189 50 a9 (D) 16 & 55 9§

As per the Rajasthan RTE Rule 2011, reimbursement
will be made twice a year directly to the

(A) School

(B) Block Education Ofticer

(C) Local Authority

(D) Principal |
TS RTE fram 2011 % orgart, whgfd ad &
TR 9y &l I ST |

(A) Taameg

(B) wvs fyrem el

(C) @M wIiren o

(D) vrard

46 Mukhyamantri Baal Gopal Yojana is related to which

one of the following?

(A) Vaccination

(B) Free pre-elementary education
(C) Free uniform distribution

(D) Milk distribution in school

@ qre Tvare A fretatad § 8 e
e & 2

A) wmor

(B) fy:green wrehwres farem (™

47 In October, 2022 an MOU was signed between Coal

India and Rajasthan Vidyut Utpadan Nigam for

setting up a solar plant at :

(A) Nokh, Jaisalmer (B) Sitapura, Jaipur

(C) Pugal, Bikaner (D) Phalodi, Jodhpur
HGW{G!T, 2022 ¥ siq fear ud e fqgd S
Y rm % dra

gﬁ*ﬁ T HEICT S99
T""‘{(A) :ﬁ-@. ﬁ'ﬂﬁ"?ﬂk

t...__|(C) e, dibr/”

qT sEner fopd T

(B) drarg, Ayt
(D) WeEl, SHEYT

4§\] Central Cattle Breeding Farm is situated at

(A) Suratgarh (B) Bassi
"'“'l(C) Jobner (D) Bharatpur
Y )t QU WoTT HTH g g 21
Q(A) AT (B) &’
(O s ¢ (D) T

42\] In which district was the Abhaneri Festival organised?
(A) Dausa (B) Alwar

H(C) Ajmer (D) Chittorgarh

ST S e Rt o R Tt a2

L¢y(A) qrET— (B) ar@ax
e=f(C) STTHY (D) TadrsTe
-

50~~{Who can verify the enrollment of the children before

(“\Jmaking the final reimbursement of the primary
school?

~-{(A) Block Elementary Education Officer

(Yy(B) Head Master of the School

((3(C) Principal |

«(D) Education Minister of the State

forerfiyep ferameral @t stfom wiayfd # 0 & ved a=i F
s T BT TATIA DI BT & 7

(\J(A) @vs URETE Rre st ~

5f<1" When was the National Institute of Adult Education
= established?

(C) g o<t faa™
(D) wper & gu fawor~”

P3] g

—1(A) 1993 (B) 1992

(N©) 1990 (D) 1991
i e Rran e (NIAE) @ @i &g w7
(A) 1993 # (B) 1992 &
(C) 1990 H (D) 1991 &
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52 Peste - Des -

53 Apurvi Chandela is famous player of

@ On which date, was the New Rural Tourism Pol_icy

55

IP3 ]

mme
Petitis Ruminants Control Progra

(PPR-CP) is - S
(A) a UNESCO programme 10

malnutrition

(B) an intcgmlcd weed manag L
inati for animails
a vaccination programme |
) 4% P vention of

(D) a vaccination programme for I!1e pre
genetic disease occuring in children

ﬂé—%&ﬁﬁaaﬁﬁwmﬂww

ement programme

(C) ugpa & faq et HRHTL~ _
(D) =t § anafers Al B Tepa &g dd
lilia;l ({ |

(B) Badminton
(D) Athletics

(A) Shot put
(C) Rifle shooting

SECURSERY & witg Raemsr #)
(A) T By (B) dhiTe
(C) EHa SfieL~— (D) ugdferay”

1

of Rajasthan implemented?
(A) 24t November, 2022
(B) 12t December, 2022
(C) 10% November, 2022
(D) 4% September, 2022

g fo & T &1 T T wees S gd ¥ 7
(A) 24 Fg=, 2022 |
(B) 12 fegmay, 2022 ~—

(C) 10 Fgwy, 2022

(D) 4 fagmEzt, 2022

The most important contribution of ICT in the field
of education is '
(A) easy access to schools

(B) easy access to learning

(C) easy access to teaching

(D) easy access to workloads

foan @ éz 34 o @1 wad weayf diem ¥ -
(A) @l 4 q7a yia 1

(B) faan a% wea yiu ~

(C) 1aaw a4 gra R o

(D) @i a% ww@ giw &

6 .
‘9 with Social Justice and Empowermen; desy

&

| 58

$ . 6 ‘

of the following scheme jg ot g
dena. 0k

' I
Government of Rajasthan? Me

(A) gwadhar Grah Yojana

(B) Palanhar Yoj_ana.
(C) Shubh Shakti Yojana

(D) Navjeevan Yojana
F q A G TH AT T
e =g Tl a&xzﬁrﬁwﬁrwmﬁwﬂﬁﬁ

How much assistance 1s provided
Mukhyamantri Kanyadan Yojana?

STl & 7

(A) 31,0007
(C) < 1,00,000

(B) < 21,000
(D) < 65,000

First cotton mill of Rajasthan was "The Krishna i
Limited', which was established in -
(A) Bhilwara (B) Beawar
"(C) Shahpura (D) Kishangarh
R @Y Yed o BusT e ‘g o fie
41, 9! TYAT & T3 AT —
(A) HiwareT (B) =&m@X H —
(C) smegw H (D) fewsrrme |

The 'Gurudwara Buddha Johad' is located in
-district of

S9

(A) Jodhpur (B) Ajmer
(C) Bikaner (D) Sri Ganganag¥
ToaTT g Siles’ Ry & Rera 2
(A) g, - (B) o1
(©) drt (D) & TR~

. y
According to RTE Act, admission of childrﬂ”‘

particular class has been proposed to be on the
basis of -

(A) Education of the parents
(B) Socio-Economic statys of the child
(C) Age of the child

(D) The ability of the child

trem @1 Sifteer sty % o O
$IQT Tl A TH fpedy ame T
Y |

(A) -t o Rrar v

(B) aﬁa%qmm_mm/
(C) Eﬁ_aﬂ-?fa'q)-

60
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Qualification for appointment and terms and
~onditions of service of teachers is mentioned under
of RTE.

Eﬁ) Section 24 (B) Section 25
(C) Section 22 (D) Section 23

RTE & el @1 iRt & 1T Araand, sréand 4 der
ot Freifed @ -
(A) °RT 24 H
(C) qrr 22 |

61

(B) o125 9§
(D) T 23 ¥«

In which year's budget announcement, it was
proposed to convert government schools into
Mahatma Gandhi Government Schools (English
Medium) in villages and towns with a population of
more than 2000?

(A) Year 2019-20 (B) Year 2021-22
(C) Year 2020-21 (D) Year 2018-19

frg g &I gt 9N § 5000 § it SrEre) arey ial
A B H GO Thell Dl e T GBI el
(3Tt greg™) H 9o bl W @1 T on?
(A) a9 2019-20 (B) 499 202122~
(C) a9 2020-21 (D) @9 2018-19 =

63 Ardeotis nigriceps 1s a -
(A) Bird (B) Tree
(C) Reptile (D) Mammal
TSI AT & —
(A) T&l-~ (B) 9&°
(C) wlgy (D) ward

@ Under whose chairmanship the Review Committee
was established in 19777
(A) Dr. Shramannarayan
(B) Dr. Abdul Kalam
(C) Dr. Ishwar Bhai Patel
(D) Dr. P. D. Shukla
1977 & gdvaror @it @1 e fepea sreder o
s ar?
AA) =i, gu=raaT
(B) =1, arege &wed
(C) = g9ar 49 92
(D) =i, 4y, &y, gram

65 In Which city was the world sufi music festival Jahan-
E-Khusrau held in November, 20227
(A) Jodhpur (B) Udaipur
(C) Alwar (D) Jaipur
RR grex & s ot i bfeae ST -G-gud @
ey s, 2022 & fopar AT ?

66

67

68

9

(A) Srege (B) S&d@yl
(C) " arsrere (D) A3V
P3] ¢ /

Ifx:y=3:2,thentheratioof -7/?" 8

Dx? +3y2 : 3x? —2y2 is equal to -

R x: I
Xiy=3:12, @agud  2x373X2!

2x% +3y? 1352 =2y TR ¥ - 184 (-,

Y 3 © t
(A) 5:3 (B) 27:19
(C) 6:5 (D) 30:19

The value of \}5+J1 1+ \/19+\/29+ V49 s

—

5+J1_1+y/19+1}29+;f@ & A &

(A) 3 (B) 5 2;/_ ’ Z 14:
(C) 2 (D) 4 i <
Factors of the Polynomial 4 \/3-, 2 1 5p—? 1/3 e ;

& 443x% +5x—2+3 & TorTETE ¥ -

(A) (\Bx-2)4x-3) ;

B) (2\Bx—3)2x+2) Y OJ3In Ll J3 n

© (Bx-2)@dx+B) L — 23 -2z
©) (Bx+2)4x—3)"" vJs 2243

In the adjoining figure, PS is the bisector of
ZQPR and PT L QR and £ZQ> ZR, then ZTPS
IS -

g9ty & fr ¥, ZQPR @1 &iti PS & @ PT
ug £Q> /R @9, LTPS & —

R

A S - QU
(A) 90"—-;-(40 ~ £R) e
1 -2 8
(B) -2-(£Q+AR) 2 '__uj;
(C) £Q — £R QJ‘?H ! e
D) -;—(ZQ ~ ZR)
[ Contd...



s L ‘y){’w |
12t b GNP, i
. : times the sum oI 1tS digits,
- s four

When a sum of money 1s put on Iolan.‘?fnr one and half 76@ tWo fjlg“ “”d : e the digits reverse,
years at a rate of 20%, the difference between the £ 18 is add?
interest is T 264 when interest 1S rcspcct‘wcly

X[,LXB compounded annually and half yearly. What is the |,

sum?

f‘—‘W ﬁﬁﬁé%iﬂ“hﬂﬁéﬁﬁ%ﬂmwmmt %m%_
W = wT E-taen: At qun ol i ed TR 264 g (B) 48
4” 1 e b1 ua R R 7 (A) 24/ (D) 36
},ﬂ‘ (A) T 20:000 (B) < 18,000 i
i C) T4 )) 22,00
(C) 000 (D) < 22,000 1 Mode of the data 15, 14, 19, 20, 14, 15, 16, 14, 15,

96660 - - - 17, 15 is -
71  The present value of a laptop is < 6561. 1f its value 18, 14, 19, 15, 17;

& e& decreaséé{{very year by 10%, then its value before ,
R 3 vears Was - 15,17, 15,1 957D & ~
SO ) w6 R | (A) 16 (B) 17
4 & el A EgFTm AW E R A -| () 14 (D) 157
L (A) < 000 (B) < 8,000
(O :1_9‘900 (D) 8,500 @' e price of diamond is directly proportional to
72 Which ohe of the following is not a real number? square of ts weight. A diamond broke into four pieces
: Prefiia Y @ 2 @ U TS 66 T 7 0 the ratio 1:2:3: 4. The broken pieces got sold
‘i =~ = = in Z 2.10,000 less. What was the actual price of
g 12 diamond?
(A) ‘G) (B) V4 & Y Fa o g % T & FAI ¢ | T &I
;'3(' - qR AT A 1:2:3 ;4 % o § g2 01 g2 U 3B
© =) D) 72,10,000 7 & 3% T | qaEd €N A AT
L() V2 1 o1 ?
:' . (A) 30,000 8) T 2,40,000
73 Decimal expansion of ("'*"] 1S - (C)< 3,00,000 (D) < 3,30,000
1 2 3
=
1 . 1 N , :I\ffo numbers are in the ratio of 2 : 3. If each number
O 5" g | WSS JEL & -~ 1s increased by 4 the ratio becomes of 5 : 7. The sum
& }‘ - ;) —_ / of both numbers is -
5"/\" (©) 023 (D) 0.55 :r;‘ 74 2:3 % o A ¥ 1 9 el e 4 § 9
T HIU S5 2 7 B ST & | A HEda o AT & -
W . — (A) 36 (B) 24
/ 74 Fraction representation of the (0.1254 1s - “ b 2—"’1
_r (€) 42 (D) 4 PR
0.1254,7 fir= freqm & - o 3o
(A) L (B) L ::; square-root of a natural number is n times of its
.(} 1653 100000 Ic mﬂt: That number is -
K or  ofts | T
j _‘ el _
\ 55%) 550 W s =Y Y e
L) ) | (B) n'<
75 The meanrof first seven observations is 18 and mean . (D) n® 5"“‘; Y
of last geven observations is 20. Find the seventh Z_ '3" 51y
,\j\ \ obsewa;igg it mean of all the 13 observations is 19. Tlu:ee numb.ers are in the ratio 2 : 3 : 4. If the sum of
/Q &% am Vﬁﬂm ared 18 & dur efead aid e their C“bfs IS 21384, then the largest number- is -
N e 20 % | e et g @b af wh 13 dae @ A Tted 2131 4 % o & & ) ol S g gy A
N . TT"H EF‘ﬁ &l 6
qreg 19 A 21384 8, a v qe) e b - y ;
- (A) 197 (B) 21 (A) I8 B (B) 12 \//& WV
%ﬂ (C) 15 {) (D) 17 ‘Ljrﬁ ) 36 N N 0/ 24
- T f)/ /
IP3 S ATRA : =
‘Y‘) J $ (;( % / & ?)( X r)/(lwza ?\’ [ Contd...
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82 The probability that a number selected at random

7/;71‘

87 i m of equati
from the number 21, 22, 23, ...., 40 is a prime For wha:[ value of 'kthe following syste quation
umbar i - have unique solution?
gem 21, 22,23, ..., 40 ¥ ¥ OF Hem anhem wyy| K P 6 AW % g Pt edwn fem & s
T B W Th AT G BN B ity & - e 7w ¥ 7 ‘/ly
1 1 2x+3y+5=
® % ® <o
bt ! — v
A and B have some apples. If A gives 2 apples to B, CLk =4 f D) k # 4 » 6
then A will have apples half of B. If B gives 10 apples B 4/7‘)‘“ ux / f
to A then their number of apples will interchange. W_z g (1 "(:;
How many apples does both A and B have? @ (T ,,“608) - (13.392) =" "r —
ATIBS TN gB R I AR A, BA 23 dmd|  (A). 18 (B) 2.6 | s
A% T B3 0T da e B\ B, A @ 1049 |  (C) 006 ) 08 "
< & T I Aa Y S ST ¥ 9ew A | A 7 .
B % U™ P ICREIR:ER: ({ g 89 If n-i§ a natural number, then (921 - 42n) js always ‘ SV\
(A) 42 [@ﬁ 2_,1 divﬁisil}le by - l a(,,_,‘ oﬂe\—
(C) 26 ‘ (D) 36 20, | (A) (Only 5 (B) 5and 13 /;-';
Jo = (C)..Only 4 (D) Only 9 (
| "~ ' 2n _ 42n T -
84 5 of 3842 + 15% of x = 2449 then the value of x7s- E‘EHF‘E q?g deT s, Ef([B()‘;" 5 H:T )I ?:}Wa?l -6 é
O'J»\ 1 s 2 | 2~ il (Cj”F: 49 (D) %ad 9 ¥ 0 & x}
384-235[’;+x35115%=5349ﬁrxﬂﬂqﬁ%- * Q_,|ﬁ'/¢
0 i 1% Q< |90 A student got 32% marks out of 300 in sci!:ndle )
(B) 3540 . i .
(CY3520 D) 3250 6 2%, 1 suH;ﬂnle ts. How much percent should he score
G_ . .
B:gg g% literatlre of 200 marks to make his total marks 50%s ,_( l{c/ot
i e adjolning figure AT = AL, AB=AD M| plfitnet 3 fasr Rl 3 300 & 329 o al |
£BAD = ZEAC, then BC is - | Pt ¥ v 200 o ¥ 3 R whve we ey LIS
qgrfd w3 fast 7 AC = }E, AR S AP T et o g 50% i firdt 7 '7:’15""
/BAD = ZEAC, 73 BC ¥ 0 (A)~78% (B) 82% LIA
i lﬁ 5{ o oraue” D) 2% | M
g 91 Thefractional representation of 45 minutes wﬁ/gge/o
da}fﬁ"is ‘ (H o ]'r
1- 1&1}) qE 45 e 1 frsig frago 3 3 ik
w40 60 ( \:\ |
llf/- 1_;.,..|1 / 1 h/a/o .
VY O OF= 7 1 <N
D c 1 A 2 24
A\ DE (B) CF+FE  “Jupt - 6 , SN
((Cg — (D) DC + CE | qql/ ? Fa?:IPr)s of (16—x"+2x7y -y%) are- ¢
f 10 m high con 6,933 .6 .
_?,6..- The f:ircumferenC\:’}?aftI};etE:S;ré}a of 1;11 canvas used Uﬁj‘? +2xy" = )") & e € - WE
tent 1S 44 meter. “ (A)™ 3.3 +4)(1_3 4483 .
; in makiﬂ%ﬁth O e ¥ % a1 afy 44 AT ey ¥ A ) }l'g%"}"x
10 Hre S AT e o et 1 ¥ B+ +)(x" £33 - g T np Z/
(X




@[f the sum of the zeros of the pﬂlynomial @
(ka _3y—6k) is equal t0 their product, then the

value of £ 1S -

gy agme (e —3x -0k

) % S @ 2 I O

a3 @k H A & 2N
(A) 2 (B) -2 IMH-
7l s fusgn— >

/¢ .
'QZ-Txm adjacent angles of a parallelogram are (3x — 4)°
and (3x + 10)° then the smaller angle of the

/

.10 |

Alcoﬁolic fermentati(m which occurs in yeast |
St hae

following reaction
Pyruvic acid - A__) Acetaldehyde
B

y Ethy] Alcohy)

A and B enzymes involved in the reactiq
N are

respectively —
(A) Alcohol dehydrogenase, Pyruvi
¢ decarboxylag,

(B) - Pyruvic decarboxylase, Alcohol dehyd
(C) Lactate dehydrogenase, Decarboxyl ;’S rogense
(D) §uccinyl thiokinase, Alcohol dehy droe
Qﬁfﬁﬁﬁﬂﬁsﬂﬂ?'&ﬁﬁlﬁﬁw% N genase
arffnan Bl © | i

paralleogram is - N
T §HI * B ELG 6
(3‘+m'r;{_ugﬁaésa‘(_am={m (3x — 4)° Fem avt B ofiefeserss
(Al) ;0)%d\ﬁmﬂ{a§ﬁam@am%_ .
(C) 8;’:, (B) 106° P B, it twree
(D) 89° - 5 Ol'-Hc.'::-! o (A) ﬁUAaBWEF‘TST t -
Read the hlSt{)gram and ﬁnd the T G"A._.?... ‘ (B) _r ’ W%Wm
whose pock number of stude Ts6ide fShEliedest, Urhlaia
et allowances are less than . C) ARz 3 , ERESINES
mﬁwmmﬁﬂﬁwqﬁs et < 40. (D) eerEsivT, fSaEifraa —
- ' e SEI ?
f;}' ﬁa@ﬁ%?mgm%l T _Imﬁﬁflﬁﬁw o8 m,ﬁﬁﬁ'ﬂﬁw
s C gkl 'Xhen pressure is increased, th .
9-4 0 ]l e 'I"Lg_t"f“ﬂ == EB; I;::ta(iins unchanged s melling paint'of ioe
. _ P e .
b s jéj ?uﬁ’z"‘_‘\q’l«‘-\ ~y O (©) increasggeases’ then increases
L% l"?-—-:;’ #0 ' 9”1&-\;!3”_9;-, g o ;[;)miecreases k ~
E Z o e | ST ST & -
5z ‘gupitne §9° o e LA i
Z 20 : (C) ST & & 1o 3T &
Q 7 i (D) Weqmte—
10 99 - In Boh e -
- 2—3:}“& 3 is an i t'S model of an 4¢q |
> an ntegral my]y; m, which of the following
i— %xlj 20 40 60 80 1 %g ;Otemia]'he“elrzyh G
7 Pocket Expenses (in ?()}0 il 4R % Ty e:] “Igy Eg)) Ang}] lar momentum
| ] T G W ARSI IS5, N Radijus of an atom -
—r SR SR AT !, Trfefam % 4 @ @ h2n @
_JC?\\Lf © 2 / (D)) z];g (@W; MIRERT _ Eg; mﬂﬂaﬂ/
— N J0 % at i
? " White blood cells wh s hydroxlifj i;c)rmed Whe bk Kl
617 nucleus and are Which have o (A) S ” "N ZIne reacts with sodium
Pacicus and are phagocytic are - bean shaped | (B) Sodign " O
g ; (C) Baso (;I?:]”S (B) M()n (C) g?dlum Ziﬂca?glde and hYdI‘O en eas
l X - ﬁﬂ'{il'g['“ S (D) Lymocytes, (D) Slnc hydroxige and water gen g
i 9 & droy o) o Phocyteg R gﬁﬂ UM Zzincate and sodium
A | T TR B ¥, g 3 A B TR g rogen
7 pd (C) =Hifthe 3 (B) qmw i (A) ARTY R o & gT
| (D) wifsa Rige Ha]?m Hifsgy
BERIN g o—



101 Which of the following is not a‘nqn-contact force?
(A) Gravitational force(B) Friction foyce
(C) Magnetic force (D) Electrostatic force

P & § B9 oTgmd oo 7ol & 7

Farmers neutralize the effect of acidity on the soil
by adding —

(A) Caustic soda (B) Baking soda

(C) Slaked lime (D) Gypsum

feraT e WX arciar & W @l T et Ierde
H{d © !

(A) SIS A1
(©) gmgan gL (D) fram

é.
103 Water reabsorption from the distal pﬁ?}f the renal
tubule 1s under the control of which hormone?
(A) Renin (B) Vasopressin
(C) Oxytocin (D) Angiotensin
e iciehl o S W1 ¥ S BT GAUanvr 6 g
oA sar g ?

(A) T ;E

(€) 7/
104 An electric fuse works on the following principle of

(A) Lighting effect of current

(B) Heating effect of current

(C) Chemical effect of current
..(D) Magnetic effect of current

Ts fagd v B 7 @ e e wad s &7
(A) ©T0 & I e U
(B) 4 & qrdrg wHrg qx
(C) «r & TEAI-h T X
(D) o & g 91| 1

A car is performing circular motion with angular
velocity 27 rad/s. Its time period will be :

UF H gATHR T T €Y ¥ forgat soig T

21 rad/s & | ST A B B
(A) 0.5 sece (B) T sec

(C) 0Dm see (D) 1 sec

@ Above the surface of Earth, a geostati::mary satellite
is placed at a height of about : |

ged &1 waw ¥ I T4 Faré q ugh ey SIUE @l
i fpar s #
(A) 30,000 km
~(C) 20,000 km

102

(B) 36,000 km ~—
(D) 26,000 km

107 Which of the following does not belong to natural
polymers?
(A) Rayon (B) RNA
(C) Cellulose (D) Starch

Frefofag & & & a1 Tpfye agas ol © 7

(B) st (Y are) W

y

112

113

11

(A) WA~ (B) X TA T
(C) Hga (D) ==
IP3 ] $

108 Universal blood recipient blood group has which

110 Zeroth law of thermodynamics is related to :

antigen and which antibodies respectively?
(A) Antigen A-and b antibody

(B) Antigen B and a antibody

(C) No antigen and a and b antibody

(D) Antigen A and B and no antibody

| e BT wge & st @ @ g 3 wRieE
B & 7 .. -
(A) A ufererr 3 b ufreeh /)7 % ¢
(B) B wfte alT a gfereed

(C) &I I yiee &1 3T a g b wfereed: 9’%

(D) AanﬁmaﬂTaﬁs‘%ﬁm‘{ﬁrﬁ/@'g JE

Which of the following belongs to a homologous
series of alkynes? :

Frafaflag & ¥ @I Teblzd @l To a9 @ 9

Haftg & 7 A .
(A) C.H (B) C.H v)—
(C) CiH, (D) CoH, . C”'\ 1Y

”

Ly,

Y

(A) internal energy  (B) temperature

(C) heat (D) work C

SHNTIGS! &1 T Fram gt & }1 6.172' k{

(A) =it ot 9~ (B) Qe § 2

(C) &1 ¥ (D) @ FLr & Q//
/

Which cells of intestinal mucosal epithelium secrete
mucus? —
(A) Peptic cells (B) Oxyntic cells =

(C) Chief cells (D) Goblet cells

TS ST IUHAT DI DI Gl BIIHT AT B AT

(A) Ufes HR@T (B) st i@
(C) g&a ®iiydrd (D) Tiiseie Hifdrdd —

Cell wall of algae is made up of g
(A) Cellulose, Pectin and Protein

(B) Cellulose, Pgptidoglycan and Pect) /C:E—
(C) Cellulose, Galactans and Manna_r}st:]

(D) Cellulose, Hemicellulose and Proteins "C
S o aven e et ,, (= C

(A) g, T AT b
(B) dgeior, UeTgeragd d YA | -

(C) Jgee, Nagea a A g &
(D) Jqere, THAYAT a W 8

Which of the following has the highest inertia?
(A) Car ‘(B) Truck

(C) Cycle (D) Scooter
P & 4 Rege Ss@ 999 S91&T BT 7 (
(A) BN (B) & qj\
(C) Rt (D) Elz?_'{r)/ v
% [ Contd...

%%



When sulphuric acid reacts with egg shell, which gas

is produced? |
oxide (B) Carbon dioxide gas

(A) Carbon mon _
(D) Nitrogen gas

of Plaster of Paris 15 —

A BTG &

119 Formula

@l 3

2 (C) Hydrogen gas
| At e @ @ g I B (r o il 1
‘ Ay @ s (B) grda srgoriaangs g (©) CaSO,* 7 H2¥ (D) Gas0y° 3 He0
‘ (C) grEsie 19 (D) SRR tt
{15 The animals have different cx?rclory structurgs.. 20)If two resistances arc of equal values 6 Q are
L Match the excretory Structures with the animals apd f ™ connected in parallel, then the equivalent resistance
then choose the correct option : g I(\] will be:
Animals [ xcretory Structures Ay TR .
|. Planaria .. Malpighian tubule Gm & g 6 €2 % ﬁ'!': | %9 H WY W
3 2. Earthworm b. Grcen'g!ands p] g dl el g gfercer I %/ll JZ
3. Cockroach c. Nephridia (Y) (A) 9Q (B) 122 "
4. Prawn d. Flame cells L0 o 3900 D) 68 C’L—;Z_
aﬁaﬁﬁﬁrﬁmaﬁﬁﬁmmm%mﬂaﬁﬂ ©) ¢
el ngﬁ 3 & frerr Mg Hﬁ\iﬁq Wl gﬁq;—l 121 The highest number of atoms is present in
3 r it il e} ﬁﬂﬁaﬁméﬂﬁwﬁ%mﬂ%—
¢ 2. @ b, sjfirm sttt (A1 4 (C) 4 g He (D) 46 g Na
: 3. HHUY c. Jahd \
? 4, WM d. v HIIDIY r"“ eil Armstrong landed on moon for the first time in:
4 (A) 1-d, 2-c, 3-a, 4-b (B) 1-c, 2-a, 3-b, 4-d (A) July 1970 (B) September 1970
- (©) I-b, 2-c, 3-a, 4-d (D) 1-d, 2-b, 3-3, 4-c (C) July 1969 (D) September 1969
X - - .
116 The energy possessed by a body of mass 2 kg when;T | T W q'sﬁﬁzryfﬂz TS A .
it is placed at a height of 5 m above the ground will (A) gz 1970 H (B) faa=T 1970 o -
be (g = 10 m/s?) 2 (o) waE1969% (D) Rt 1969 %
wzkgmﬁﬁﬁﬁﬁ‘faﬂﬁm#ﬁ,aﬁﬁJ _
4 e & 5 m & SaT gT @ T E (g =10 m/s2) 123 Non-membrané bound organelle found in both
é (A) 150J (B) 200J o] eukary?tic as well as prokaryotic cell is —
f);% \f (C) 50J (D) 100 J/ oY) gé)) fléllbosome (B) Golgi Complex
( . _ _ icrobodies (D) Lysosome
N 17 Kwashiorkor disease is caused by deficienc of L) .
\0 A () Iron ) Vidass 0Lk ;%Waﬁ%ﬁﬁﬁmaﬁﬁmaﬁﬁwwﬁw%ﬁ
_D ? /(C) Protejn (D) Iodine - W € - .
ooy iR R B H T & 7 s @ b (B) el @i
</ (A T (3maT) (B) feoreifr N (C) w@EEl (o (D) AR
(C) A (D) S esd ks motbve Tiaed)
_ 118 Whi i n active ingredient in bleaching powder for
1% Whlcz E[ljmoglg the following are examples of diseases{ bleaching action is —
caused by bacteria? ' Rrist frar & foo s P B
. Leprosy 2. Tuberculosis ) (A) CaCl o Tﬁ . y
3.  Diphtheri LO) 2 (B) CaOCl
phtheria 4, Tetanus , (C) Ca(OCl) /
Choose the correct option : < 2 (D) CaO,Cl
. (A) 2,3 and 4 B) 1.2 ;
| (C) land?2 gD; 1, 2’;;1(? I;d ; tﬂj - Wh.lc!" of the following polymer 1s stored in the liver
| o3 i bror ik T ! " | L of animals?
) . g@ T 2. &G AN LA umyopes (B) Glycogen
¢ 3, ' ! (C) Amylose D) Cellulose
Wedf 4, fezmw Prefaiad A ( * - difd
1 faae gf - ; & B w1 agas gl & ag A
(C) 1aix2 (D) - Jou i 4 (2) WIDRIRIEEE] (B) TEEHAT
IP3] (C) S (D) dgard
12 [ Contd
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126 "Teaching strategies should help students to acquire
new elements in their cognitive structure”. This is a
learning view of
(A) Cognitivists (B) Constructivists
(C) Behaviourists (D) Objectivists
“Rrgror Rl g BTl @) @ GEETeTd WlE |

U d UG $ ¥ ¥ag frer ifsgl”’ 98 fhd Iurm

&l fagra & 7 Tf'
(A) aMI&®H~—"  (B) Tg7ENRI (Lj
(C) amﬁ’u(a (D) Ffrard - t )

127/Advantage of using ppt in teaching mathematics is ¥
(A) Facilitates effective way of communication v
(B) Choose to create your own design or use’f\]

existing one
(C) Presenting outlines of information in a | 131
sequential manner i
(D) Create a huge gap between reality and’}")
perception 18
T f¥eror § ppt & w@T @B @ @ et

(A) OR & YHET Tl @) giayr & r_;_!
(B) U T T ST ST AT HISTET BT S9aIT &
(C) HHEE e § A& D TILET TKa FEAL L
(D) arsiaear i SO & §I9 987 &< §9M1

128 Which of the following is not a problem faced by |
teachers in India? (1)
(A) Unbhealthy financial conditions of institutions L{ )

(B) Positive attitude of management towards<{j?
development of material resources o=
~+ (C) Traditional curriculum and teaching methods _ ]
(D) Lack of feedback mechanism
Rrefoaa & @ Pod awe &1 QT S et ar |
Tel AT 5ell ?
) G @l waei o Rafq 132
(B) s daTaHl & famE & R yeeas & ()
HHRTES gRedT,/ L)
(C) mmﬁﬁtnaﬂwahmmﬁﬂnﬁ'y Sl
(D) wfagfte o= @1 &Hr v
3 T
129 Mathematical magazine P (IN]
(A) provide context for theorem - proof.
(B) focuses explicitly on mathematics rather -
than pedagogy. d)
(C) is a publication for maths teachers. ()
(D) a CO”eCtion of prOblems Of mathemaﬁcs_ L ‘)
TG g & 3
(g) TG YT B % Rg e o -
(B) Tenser & a9 O vy @ whrg v ggm o)
SiEd BTl L (N
C .
((D; ‘T&‘HQTW % f79 v waprrr
MV & Harl &1 T gy \e
I
31 $ 13

130 Most students with mild to moderate diSﬁblIltl@S have

factors that impede learning.

(A) Social factors %’7{\’}-70
SP a

(B) Cognitive factors
(C) Metacognitive factors
(D) Motor factors

IR & e RyaeiTan el SIS BrE | g
FTH drgy & 9 STed ¢ 7 [34°
(’J'Lo 3,3’?""’"
(A) g BID ”13?2’_ ,//’/f
(C) WSTIEE FH 0° —

Js

* T
After diagnostic testing, it was found tat Meenal is
facing learning difficulties due to the lack of interest
which form of remedial teaching should be ado t;??
(A) Informal Teaching Mﬁ

\,
29
(C) Class Teaching ,5/_\0
(D) Individual Tutorial Teaching 9
Y HioATg B Bl BV SHA BT Bl FHG qUT TI&
TG @l STUaear & | Udr RUfq H IU=miee 1318707
(A) ST fireo ZJD(O
(B) @i frawr ¢ /
' ch

In science class, after watching an educational
programme on T.V., teacher have a lively discussion
principle is used here for effective use of teaching
aids? g 3 & L
(B) Principle of Selection
(C) Principle of Preparation
fasm @ @en ¥ AL W mmﬁ@%%wm
eres arftrmt SReal ox e aaf & @ e ead - g
Aol &y Sy & fag el Frefatad § ¥ 159
a1 &1 IumnT fopar AT B 7 . ’ 57
(A) ST U4 qeaich @l far 20T
(B) uga & foar 2022 0= Yy

(D) fwarE® EEITEEK /@/ﬂw
and non availability of direct experiences. In this case,
(B) Auto-Instructional Teaching
feTTeTe TIETOT & 99T I 9Tl T4 b Hiel bl diEH
% fehe TY I YT ST 1Ry 7

YA

2~
(C) et far8or V2 . \ I\
(D) =afrrTd e Ruaw " - ‘5&
over the learning objectives. Which of the following
(A) Principle of follow up and evaluation
(D) Principle of Proper Presentation
=

|
EL X
[ Contd...’?'%)‘{
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133 In day to day life, diffe

»@{Wﬁrﬁmﬁlﬁ'ﬁ

134

. Pt & & i @ wn w5

135

3] $ o

rent people observing the same
tly because of the different

event but report it different’) _
f constructivism is this?

world view. Which type ©
(A) Cultural Constructivism
(1‘3) Cognitive Cnnstmctivism
(C) Social Constructivism *
(D) Radical Constructivism

3P v & aqer_are R 0@ B T @ 2w ¥
AR T fard, faga-ghte ¥ PHETT ER & e
W—maﬁ%ﬁaﬂﬂm%lﬂ?ﬁmmu G

a7 L e
F

(B) GEMIHd {@AER
(C) |G (AR -
(D) Hifeie @AER

Which of the following is not the merit of Problem
Solving method? . - .= R i |

(A) Helps in development of scientiﬁd attitude
(B) Training in scientific .mé:'thqd |

(C) Time saving method i

(D) Learner-centered method

What type of test are used to judge the students
language expression ability and organizational
ability? L: -

(A) Short answer type tes

(B) Oral test |

(C) Objective type test

(D) Essay type test - = . s

o1 el T % R P YT & e w1 ayg fan
e § 7 '

() e wiem O
(B) t?rﬁﬁ'ﬂl’ﬁ&m/!_ e % 25 .
(C) aEghTs wlE . ' :
(D) P Tl

136 Formula of Education

137

138

139

140

14

(C) Law of Readiness (D) L

al Quotient is

Chronological 282, 10

(A) Mental Age

Educational AZE__ 100
(B) ChmnologiCﬂl Age

Mental Age
(C) Thronological Age

x 100

Mental AgE
(D) Educationﬂl Age

s cifer ST BT B

Mx]OOKf
AT 3TY

x 100 y 'l

(A)
(B)

©) ks

Which of the following is the direct method of

adjustment?
(A) Repression (B) Projection

(C) Regression (D) Substitution of Goals
Sreffad & § @I G @IS @ qede T & 7
(B) W&

(D) e @ whrem”

Which is not the element of creativity?
(A) Originality (B) Memorisings

Who gave 'Mental Age' concept?
(A) Cattle (B) Stern
(C) Binet (D) Thorndike
qHRT® g’ H TG e — <
(A) e ) & v
(C) fm (D) die1Ed o

[n which primary law of Thorndike, property-of trial

and error is demonstrated?

(A) Law of Effect.  (B) Law of Satisfaction
aw of Exercise

HHeEH & DA ¥ WUt ¥ draw @ ga| @

e fafyr &t =amen o 7 ¢
(B) ddra @I Fad

(D) =T I
[ Contd...

3



143 A childs

(D) e T §

144 Match List-] with List-

by choosing from the codes given below :
List-I (Authors) " ListIT (Concepts)
2. Burt and Vernon 1, General and specifiC
. factors B
b, Spearmarn 2. Hierarchical theory of
- Intelligence *
c. Gardner 3, Triarchic theory of
~ Intelligence
d. Stemberg 4, Multiple intelligence
" @i theory r v
W—lﬂ@-llﬁﬁmﬁﬁqﬂmﬁﬁqmvﬁ
51 TTEN T FU eI T A A DI
il () T ()
0, T . TR fagr A1
p sl 2. 3 &1 e e
C. \J?\ 3. G 7 greanid e
d. wAal 4, s

Code / 2 :

(A) 3-3, b-4, 0-2, d-1 (B) q-4 b-3. ¢c-2 d-1
O ol b3 cdd2 (©) a2 b, ch e

IP3 ] $

L

I1 and select the correct answer

149

146

147

| 148

150

All human contains __——
b= SR o i ‘}n

(A). 23 (B) 46

) 227 (D) 44

When data i transmitted from device A to device B,

the header from A layer 3 1 read by B'S _ Ty [ éj
layer 9
(A) Presentation ?"Z- f g
(B) Transport / Y
C) Session 3 [

(D) Physwal |
maﬂmaﬁaﬁwﬁﬂmw%ﬁ%ﬂ
Aﬁsﬁfm,@lm%faﬁaﬁ qE

(A) ﬂ'@ﬁ?ﬁ '(Presentatnon) | ol g
(B) ;Iﬂqq:\i (Transport) , . + 1

(C) (Session) Bl TR
(D) gt (Physma]) : | ¢ P
Bitcoin wallet was released in: ) B T
e A 3w e T iy
(A)2012 g 2014 20 )

(C) 2009 (D) 2011 \
In mathematical term Table 1 referred as : 2_ Z/ j
A) Attribute (B) Tuple

0 e (D) - Domain ?]7(7’ é

(C) Relatian 3\ |
ey e # et (Table) FEl & © W}j

modem is called connection ¥
(A) Digital 2_:’_,___-
(B) dial up

(C) Fiber optiC ( 802 (
(D) Dish.: " -
aﬁmﬁ@ﬁhﬁrmamﬁzamﬁﬁﬂ

) - e o

(A) fefea (Digital) 2¢O
(B) s o (dial up) et
(C) wigar aiifem (Fiber optic) 94 4 X5
(D) feur (Dish) l .,i-'"‘ﬁ |
gg;:g?nf the following e-wallet app 18 Oj azd byl
(A) PayZapp (B) PhonePe ‘

(C): Paytm % .. ' (D), BHIM

e & A A 1 §-aie AU CEgEE AT U
femeT T & 7

(A) ﬁt?m (PayZapp)(a E‘Bﬂﬁ%ﬂf{ (PhonePe) ]’% g
(C) ﬁé’lqa (Paytm%/ (D) ¥ (BHIM) 2
- 0 2

:* ’_ PE 2/% | COntd__‘ ——



https://rajasthanjobportal.com/reet-main-exam-answer-key-2023/



